do/dsum E, [mb,GeV ]
= =
o [ o

AN = ) N

[EEN
<
N

|
<
w

107

107>

Ratio to UA1

0.5

500 GeV ppbar Soft QCD
— I I I | I I I | I I I | I I I | ]
= Sum ET (UAL, all p) 5
- . ]
= _
= =
E [ | E
- 0 *o. oo . ]
= ¢ ¢ Q_’..’. He =
= AT =
- A =N 7
_ . m UAL _
= | -3~ Herwig 7.2.0 default -
— | —— Pythia 8.170 default -
= § ¢ Sherpa 2.2.5 default =
E | | | | | | | | | | | | | | | | | E
— T T T [ T T T [ T T T | i ¢ ! i | =
— | Q E
- P o .
B » -
loh e :
B mr"*\ .
B R
- ! ’ a

N ¢
L L V! \ | B | |
80

Rivet 3.1.0, = 5.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


